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40%
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2)

1.000




1/

3)

.000
.000
800 m3
75 m3
800 m3
75 m3
.000
880 m3
.000
-400 m3

-000




2/

3)

1.000
3,117 7

1.000
2,817 8
300 9
2,817 10
300 11
3,117 12

1.000

1.000
12 13

1.000




3/

3)

.15¢cm 1,138 14
1.000

36 15
1.000

1.000 16
1.000

10.000 17

12.000 18




1/

N

1
m3 1.000 m3
SP
.5,000m3 - 1.000 m3 18
2
m3 1.000 m3
SP
,1,000m3 1.000 m3 19
3
m3 1.000 m3
SP
0.8m3( 0.6m3), ( ), ,15.5km 1.000 m3 20




2/

N

4
m3 1.000 m3
SP
0.8m3( 0.6m3), ,15.5km 1.000 m3 21
5
m3 1.000 m3
L=13.8km 1.000 m3 10
6
m3 1.000 m3
1.000 m3 12
SP
( ) . , ,18.5km 1.000 m3 22
L=14.5km 1.000 m3 11




3/

N

1.000
SP
- 1.000 23
1.000
SP
150mm,1 RC-40 1.000 24
1.000
SP
100mm.1 RC-40 1.000 25




4/

N

10
1.000
SP
M-30,-,-,1 ,0mm, 150mm 1.000 26
11
1.000
SP
M-30,-,-,1 ,0mm, 100mm 1.000 27
12
1.000
SP
3.0m__.50mm, (2.30 2.40t/m3 ). . . (2 1.000 28




5/ 1
0)
13
1.000
,3.0m, ,100m 1.000 16
14
,15cm 1,000.000
[1]
,15cm, 1,000.000 17
(JIS K 5665) [2]
3 1 15 18% 570.000 kg 1
[31
25.000 kg 2
[4]
36.000 3
([21+[31+[4D 0.050




6/

N

15
1.000
SP
195cm2 215cm2 2.10t/m3) 1.000 29
16
1.000
@ 76.3x 3.2x 4000 1.000 8
©800 1 1.000 9
600x 180x 2 ( 1.000 4

17

10.000




1/

N

U . ,L=2000,1000kg/ 10.000 14
b300mmx h300mm  2.0m,, 5.000 5
,40kg 170kg/ 10.000 15
( )
25 995x 300x 44,, 10.000 6
( ),1:3 0.200 m3 13
18
12.000
,40kg 170kg/ 12.000 15
T 20 995x 300x 44,, 12.000 7




( 1/ 16)

1

(JIS K 5665) kg 1.000

(JIS K 5665) :8.0 :0.0

15 18% :0.0 8

1 : :0.0
2) :0.0
3)
4)

(JIS K 5665)

15 18% 1.000 kg
1.000
2
kg 1.000
:8.0 :0.0
:0.0 8
1 : :0.0
2) :0.0
3)
4)
1.000 kg

1.000
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1.000

:8.0

:0.0

D
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3)
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600x 180x 2 (
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:0.0

)
2)

:0.0

:0.0

3
4)

600x 180x 2 (

1.000

1.000




( 3/ 16)
5
1.000
:8.0 :0.0
b300mmx h300mm  2.0m,, :0.0 8
1 : :0.0
2) :0.0
3)
4)
b300mmx h300mm  2.0m 1.000
1.000
6
( 1.000
( :8.0 :0.0
25 995x 300x 44,, :0.0 8

1 : :0.0
2) :0.0
3)
4)

(

25 995x 300x 44 1.000

1.000




( 4/ 16)
7
1.000
:8.0 :0.0
T 20 995x 300x 44,, :0.0 8
1 : :0.0
2) :0.0
3)
4)
T 20 995x 300x 44 1.000
1.000
8
1.000
:8.0 :0.0
@ 76.3x 3.2x 4000 :0.0 8
1 : :0.0
2) @ 76.3% 3.2x 4000 :0.0
3)
@ 76.3x 3.2x 4000 1.000

1.000




(

5/ 16)

9
1.000
:8.0 :0.0
@800 1 :0.0 8
1 : :0.0
2) @800 1 :0.0
3)
@®800 1 1.000
1.000
10
m3 1.000
:8.0 :0.0
L=13.8km :0.0 8
1 : :0.0
2) L=13.8km :0.0
3)
L=13.8km 1.000 m3

1.000




( 6/ 16)

11
m3 1.000
:8.0 :0.0
L=14.5km :0.0 4 8

l) - : 0 - 0

2) L=14.5km :0.0

3)

L=14_5km 1.000 m3
1.000
12
m3 1.000 m3
:8.0 :0.0
:0.0 4 8

1 : :0.0

2) :0.0

3)

4)

5)

1.000 m3
1.000 m3

mn3
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13

m3

1.000 m3

:8.0

-4

:0.0

8

D
2)

1:3

:0.0

:0.0
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25kg
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m3

0.970

0.090

1.000 m3

m3

14

1.000 [ 1
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D
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1000ka/
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5)
6)L=1000
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9
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1.000 [

1

15

1.000 [

1
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)
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8)
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1
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1.000
:8.0 :0.0
,3.0m, ,100m :0.0
1 Im : :0.0
2) :0.0
3) 3.0m
4)
5) 100m
6)
7
1.000
( )
3m 1.350
1.000
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1.000
:8.0 :0.0
2 ,15cm, 2 :0.0 8
: :0.0

:0.0
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6)

7
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1.000
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+T T EHE
PEHI T
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No. 6~No. 87+69. 00

B

15

Eis

NO. 2
T FEOB B WK HAL | BEHEE | FHEMEE 5%
BB )
%@%I ‘F«EQ N %291
AAEVE(E T
2 3117. 00
EN N
TAT 7V MEET
T AR BEI T —T 2 2817.0 2817. 00
t=0. 15cm RC-40
T AR BEI T —T 2 300. 0 300. 00
£=0. 10cm RC-40
| Je A LR R M2 2817.0 2817. 00
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| Je A LR R M2 300. 0 300. 00
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e EE NO. 6 ~ NO.8  +80. 00

+50. 00 10. 00 00 50. 00 50. 00 50. 00 50.

+60. 00 10. 00 00 50. 00 50. 00 50. 00 50.

+70. 00 10. 00 00 50. 00 50. 00 50. 00 50.

eI b T =g
T =
WA LR W T NS5 B [t} S B W T NS0 B Wi A0 P
NO. 6 5.0 5.0 5.0 5.0
+10. 000 10. 00 5.0 5. 00 50.0 5.0 5. 00 50. 0 5.0 5. 00 50.0 5.0 5. 00 50. 0
+20. 000 10. 00 5.0 5. 00 50.0 5.0 5. 00 50. 0 5.0 5. 00 50.0 5.0 5. 00 50. 0
+30. 000 10. 00 5.0 5. 00 50.0 5.0 5. 00 50. 0 5.0 5. 00 50.0 5.0 5. 00 50. 0
+40. 000 10. 00 5.0 5. 00 50.0 5.0 5. 00 50. 0 5.0 5. 00 50.0 5.0 5. 00 50. 0
+50. 000 10. 00 5.0 5. 00 50.0 5.0 5. 00 50. 0 5.0 5. 00 50.0 5.0 5. 00 50. 0
+60. 000 10. 00 5.0 5. 00 50. 0 5.0 5. 00 50. 0 5.0 5. 00 50. 0 5.0 5. 00 50. 0
+70. 000 10. 00 5.0 5. 00 50. 0 5.0 5. 00 50. 0 5.0 5. 00 50. 0 5.0 5. 00 50. 0
+80. 000 10. 00 5.0 5. 00 50. 0 5.0 5. 00 50. 0 5.0 5. 00 50. 0 5.0 5. 00 50.0 | AN HBL S A &
+90. 000 10. 00 5.0 5. 00 50. 0 5.0 5. 00 50. 0 5.0 5. 00 50. 0 5.0 5. 00 50. 0 Z
NO. 7 10. 00 5.0 5. 00 50. 0 5.0 5. 00 50. 0 5.0 5. 00 50. 0 5.0 5. 00 50. 0 Z
+10. 000 10. 00 5.0 5. 00 50. 0 5.0 5. 00 50. 0 5.0 5. 00 50. 0 5.0 5. 00 50. 0 Z
+20. 000 10. 00 5.0 5. 00 50. 0 5.0 5. 00 50. 0 5.0 5. 00 50. 0 5.0 5. 00 50. 0 Z
+30. 000 10. 00 5.0 5. 00 50. 0 5.0 5. 00 50. 0 5.0 5. 00 50. 0 5.0 5. 00 50. 0 Z
+40. 000 10. 00 5.0 5. 00 50. 0 5.0 5. 00 50. 0 5.0 5. 00 50. 0 5.0 5. 00 50. 0
+50. 000 10. 00 5.0 5. 00 50. 0 5.0 5. 00 50. 0 5.0 5. 00 50. 0 5.0 5. 00 50. 0
+60. 000 10. 00 5.0 5. 00 50. 0 5.0 5. 00 50. 0 5.0 5. 00 50. 0 5.0 5. 00 50. 0
+70. 000 10. 00 5.0 5. 00 50. 0 5.0 5. 00 50. 0 5.0 5. 00 50. 0 5.0 5. 00 50. 0
+80. 000 10. 00 5.0 5. 00 50. 0 5.0 5. 00 50. 0 5.0 5. 00 50. 0 5.0 5. 00 50. 0
+90. 000 10. 00 5.0 5. 00 50. 0 5.0 5. 00 50. 0 5.0 5. 00 50. 0 5.0 5. 00 50. 0
NO. 8 10. 00 5.0 5. 00 50. 0 5.0 5. 00 50. 0 5.0 5. 00 50. 0 5.0 5. 00 50. 0
+10. 00 10. 00 5.0 5. 00 50. 0 5.0 5. 00 50. 0 5.0 5. 00 50. 0 5.0 5. 00 50. 0
+20. 00 10. 00 5.0 5. 00 50. 0 5.0 5. 00 50. 0 5.0 5. 00 50. 0 5.0 5. 00 50. 0
+30. 00 10. 00 5.0 5. 00 50. 0 5.0 5. 00 50. 0 5.0 5. 00 50. 0 5.0 5. 00 50. 0
+40. 00 10. 00 5.0 5. 00 50. 0 5.0 5. 00 50. 0 5.0 5. 00 50. 0 5.0 5. 00 50. 0
5.0 5. 0 5.0 5. 0 5.0 5. 0 5.0 5. 0
5.0 5. 0 5.0 5. 0 5.0 5. 0 5.0 5. 0
5.0 5. 0 5.0 5. 0 5.0 5. 0 5.0 5. 0
5.0 5 0 5.0 5 0 5.0 5 0 5.0 5 0

+80. 00 10. 00 .00 50. .00 50. .00 50. .00 50.

(m) (nd) (nd) (nd) (ni)

4N g 280. 00 1, 400.0 1, 400.0 1, 400.0 1, 400.0




THEHEE 2 NO.84  +80.00  ~ NO.87  +69. 00
£ LB TR FEERE
i £
Hilp=y IE R BT T NSi) = BT if N3] Eg =y BT 1A N3] &= i A S Y&

NO. 84  +80. 000 5.0 5.0 5.0 5.0 (78] A5
+90. 000 10. 00 5.0 5.00 50.0 5.0 5. 00 50.0 5.0 5.00 50.0 5.0 5. 00 50.0
NO. 85 10. 00 5.0 5.00 50.0 5.0 5. 00 50.0 5.0 5. 00 50.0 5.0 5. 00 50.0
+10. 000 10. 00 5.0 5.00 50.0 5.0 5. 00 50.0 5.0 5. 00 50.0 5.0 5. 00 50.0
+20. 000 10. 00 5.0 5.00 50.0 5.0 5. 00 50.0 5.0 5. 00 50.0 5.0 5. 00 50.0
+30. 000 10. 00 5.0 5.00 50.0 5.0 5. 00 50.0 5.0 5. 00 50.0 5.0 5. 00 50.0
+40. 000 10. 00 5.0 5. 00 50.0 5.0 5. 00 50.0 5.0 5.00 50.0 5.0 5. 00 50.0
+50. 000 10. 00 5.0 5.00 50.0 5.0 5. 00 50.0 5.0 5.00 50.0 5.0 5. 00 50.0
+60. 000 10. 00 5.0 5. 00 50.0 5.0 5. 00 50.0 5.0 5.00 50.0 5.0 5. 00 50.0
+70. 000 10. 00 5.0 5. 00 50.0 5.0 5. 00 50.0 5.0 5.00 50.0 5.0 5. 00 50.0
+80. 000 10. 00 5.0 5.00 50.0 5.0 5. 00 50.0 5.0 5.00 50.0 5.0 5. 00 50.0
+90. 000 10. 00 5.0 5. 00 50.0 5.0 5. 00 50.0 5.0 5.00 50.0 5.0 5. 00 50.0
NO. 86 10. 00 5.0 5. 00 50.0 5.0 5. 00 50.0 5.0 5.00 50.0 5.0 5. 00 50.0
+10. 000 10. 00 5.0 5.00 50.0 5.0 5. 00 50.0 5.0 5.00 50.0 5.0 5. 00 50.0
+20. 000 10. 00 5.0 5. 00 50.0 5.0 5. 00 50.0 5.0 5.00 50.0 5.0 5. 00 50.0
+30. 000 10. 00 5.0 5. 00 50.0 5.0 5. 00 50.0 5.0 5.00 50.0 5.0 5. 00 50.0
+33. 000 3. 00 5.0 5. 00 15.0 5.0 5. 00 15.0 5.0 5.00 15.0 5.0 5. 00 15.0
+33. 000 0.00 7.0 0.0 7.0 0.0 7.0 0.0 7.0 0.0
+40. 000 7.00 7.0 7.00 49.0 7.0 7.00 49.0 7.0 7.00 49.0 7.0 7.00 49.0
+50. 000 10. 00 7.0 7.00 70.0 7.0 7.00 70.0 7.0 7.00 70.0 7.0 7.00 70.0
+60. 000 10. 00 7.0 7.00 70.0 7.0 7.00 70.0 7.0 7.00 70.0 7.0 7.00 70.0
+70. 000 10. 00 7.0 7.00 70.0 7.0 7.00 70.0 7.0 7.00 70.0 7.0 7.00 70.0
+80. 000 10. 00 7.0 7.00 70.0 7.0 7.00 70.0 7.0 7.00 70.0 7.0 7.00 70.0
+90. 000 10. 00 7.0 7.00 70.0 7.0 7.00 70.0 7.0 7.00 70.0 7.0 7.00 70.0
NO. 87 10. 00 7.0 7.00 70.0 7.0 7.00 70.0 7.0 7.00 70.0 7.0 7.00 70.0
+10. 000 10. 00 7.0 7.00 70.0 7.0 7.00 70.0 7.0 7.00 70.0 7.0 7.00 70.0
+20. 000 10. 00 7.0 7.00 70.0 7.0 7.00 70.0 7.0 7.00 70.0 7.0 7.00 70.0
+30. 000 10. 00 7.0 7.00 70.0 7.0 7.00 70.0 7.0 7.00 70.0 7.0 7.00 70.0
+40. 000 10. 00 7.0 7.00 70.0 7.0 7.00 70.0 7.0 7.00 70.0 7.0 7.00 70.0
+50. 000 10. 00 7.0 7.00 70.0 7.0 7.00 70.0 7.0 7.00 70.0 7.0 7.00 70.0
+69. 000 19. 00 7.0 7.00 133.0 7.0 7.00 133.0 7.0 7.00 133.0 7.0 7.00 133.0
(m) (nd) ni) (i) (ot
N 5 289. 00 1717. 00 1717. 00 1717. 00 1717. 00
& 3 569. 00 3,117.0 3,117.0 3,117.0 3,117.0




THEHEE -3

Sk VRTE I
MilJ=y N3] Yo S Y&
SIET oHE 3117.0 3117.0
EEXE T 2817. 0 " 2817.0
R O3 A X T 300. 0 300. 0
(nf) (i)
R 3,117.0 3,117.0




e EE NO. 6 ~ NO.8  +80. 00

JEE () JRE G2
T =
WA flIR =S Wi NS5 B i) S B iér} NS0 B

NO. 6 1.75 5.00X%0. 35 1.75
+10. 000 10. 00 1.75 1.75 17.5 5.00X%0. 35 1.75
+20. 000 10. 00 1.75 1.75 17.5 5.00X%0. 35 1.75
+30. 000 10. 00 1.75 1.75 17.5 5.00X%0. 35 1.75
+40. 000 10. 00 1.75 1.75 17.5 5.00X%0. 35 1.75
+50. 000 10. 00 1.75 1.75 17.5 5.00X%0. 35 1.75
+60. 000 10. 00 1.75 1.75 17.5 5.00X0. 35 1.75
+70. 000 10. 00 1.25 1.50 15.0 5.00X0. 25 1.25
+70. 000 0. 00 1.25 5.00X0. 25 1.25
+80. 000 10. 00 1.25 1.25 12.5 5.00X0. 25 1.25
+90. 000 10. 00 1.25 1.25 12.5 5.00X0. 25 1.25
NO. 7 10. 00 1.25 1.25 12.5 5.00X0. 25 1.25
+10. 000 10. 00 1.25 1.25 12.5 5.00X0. 25 1.25
+20. 000 10. 00 1.25 1.25 12.5 5.00X0. 25 1.25
+30. 000 10. 00 1.25 1.25 12.5 5.00X0. 25 1.25
+30. 000 1.75 0.88 0.0 5.00X0. 35 1.75
+40. 000 10. 00 1.75 0.88 8.8 5.00X0. 35 1.75
+50. 000 10. 00 1.75 1.75 17.5 5.00X0. 35 1.75
+60. 000 10. 00 1.75 1.75 17.5 5.00X0. 35 1.75
+70. 000 10. 00 1.75 1.75 17.5 5.00X0. 35 1.75
+80. 000 10. 00 1.75 1.75 17.5 5.00X0. 35 1.75
+90. 000 10. 00 1.75 1.75 17.5 5.00X0. 35 1.75
NO. 8 10. 00 1.75 1.75 17.5 5.00X0. 35 1.75
0. 00 1.25 5.00X0. 25 1.25
+10. 00 10. 00 1. 25 1. 25 12.5 5.00X0. 25 1.25
+20. 00 10. 00 1. 25 1. 25 12.5 5.00X0. 25 1.25
+30. 00 10. 00 1. 25 1. 25 12.5 5.00X0. 25 1.25
+40. 00 10. 00 1. 25 1. 25 12.5 5.00X0. 25 1.25
+50. 00 10. 00 1. 25 1. 25 12.5 5.00X0. 25 1.25
+60. 00 10. 00 1.25 1.25 12.5 5.00X0. 25 1.25
+70. 00 10. 00 1.25 1.25 12.5 5.00X0. 25 1.25

+80. 00 10. 00

(m) (m) (nd)
72N 7 280. 00 321.3 75.0




THEHEE 2 NO.84  +80.00  ~ NO.87  +69. 00

JEE () JRE G2
T =
WA LR W T NS5 B [t} S B W T NS0 B
NO.84  +80. 000 1.25 [H ] = 5.00X0. 25 1.25
+90. 000 10. 00 1.25 1.25 12.5 5.00%0. 25 1.25
NO. 85 10. 00 1.25 1.25 12.5 5.00%0. 25 1.25
+10. 000 10. 00 1.25 1.25 12.5 5.00%0. 25 1.25
+20. 000 10. 00 1.25 1.25 12.5 5.00%0. 25 1.25
+30. 000 10. 00 1.25 1.25 12.5 5.00%0. 25 1.25
+40. 000 10. 00 1.25 1.25 12.5 5.00%0. 25 1.25
+50. 000 10. 00 1.25 1.25 12.5 5.00%0. 25 1.25
+60. 000 10. 00 1.25 1.25 12.5 5.00%0. 25 1.25
+70. 000 10. 00 1.25 1.25 12.5 5.00%0. 25 1.25
+80. 000 10. 00 1.25 1.25 12.5 5.00%0. 25 1.25
+90. 000 10. 00 1.25 1.25 12.5 5.00%0. 25 1.25
NO. 86 10. 00 1.25 1.25 12.5 5.00%0. 25 1.25
+10. 000 10. 00 1.25 1.25 12.5 5.00%0. 25 1.25
+20. 000 10. 00 1.25 1.25 12.5 5.00%0. 25 1.25
+30. 000 10. 00 1.25 1.25 12.5 5.00%0. 25 1.25
+33. 000 3.00 1.25 1.25 3.8 5.00%0. 25 1.25
+33. 000 0. 00 1.75 7.00%0. 25 1.75
+40. 000 7.00 1.75 1.75 12.3 7.00%0. 25 1.75
+50. 000 10. 00 1.75 1.75 17.5 7.00%0. 25 1.75
+60. 000 10. 00 1.75 1.75 17.5 7.00%0. 25 1.75
+70. 000 10. 00 1.75 1.75 17.5 7.00%0. 25 1.75
+80. 000 10. 00 1.75 1.75 17.5 7.00%0. 25 1.75
+90. 000 10. 00 1.75 1.75 17.5 7.00%0. 25 1.75
NO. 87 10.00 | 2.45 2. 10 21.0 7.00%0. 35 2.45
+10. 000 10.00 | 2.45 2.45 24.5 7.00%0. 35 2.45
+20. 000 10.00 | 2.45 2.45 24.5 7.00%0. 35 2.45
+30. 000 10.00 | 2.45 2.45 24.5 7.00%0. 35 2.45
+40. 000 10.00 | 2.45 2.45 24.5 7.00%0. 35 2.45
+50. 000 10.00 | 2.45 2.45 24.5 7.00%0. 35 2.45
+69. 000 19.00 | 2.45 2.45 46.6 7.00%0. 35 2.45
(m) (m) (nt)
74N E 289. 00 481. 20
=3 g 569. 00 802.5 75.0




[T 2% L

REWET = EE
£ a1 it g =t B = |Hf
XE#FAam
42 150m L=569 % 2.0 1,138.00
2E2AE 1.5mm
(&) 1,138.00] m
H—I3I5— ® 800 300 X
AT ®76.3%3.2x4.00 300 #
HEuEar9)—k 3E LY
a 9)—k BB18-8-40 069 m
[ b B INEY 540 | m
HBERR t=0.15cm 108 m
RiE INEREELET 630 m

HBERE INEELE T 540 m




[T 2% L

REWET = EE
h—JI5—H#EK S=1/25
HiEaro)—k 108 HY
avy—k 0.23 m3
500 500 2 # 1.80 m2
HERA 0.36 m2
G.L ‘ G.L ‘ K o] 210 m3
p:] B 1.80 m3
\ J
A 8 e % s
" { 7
8% \ [ g
S - °
600 600
£ R K g =t B 2 | B
H—J=5— ® 800 300| A
AT d76.3%3.2x4.00 300| X
D 1R LY
a 9)—k 0.50 X 0.50 X 0.90 023 m
& b B 0.50 X 0.90 X 4.0 180 m
HERA 0.60 X 0.60 036 m
RiE 1/2 % (1.70 X 1.70+1.10 X 1.10) X 1.00 210 m
R 2.10-(0.23+0.36%0.1) 180 m




BEdi% .
REWET e it E E

1570 % X FUBEIFE s=1:2
330044300

5555300 5555

oL iy
<
2 2
o HELAIL
1= x
2 oo
Bt
5( 5( 12FL% v R MUBEE 10, 0n#= Y
B 620 7 & W u 8
fliE 2.500 ]
ELAIL 0.160 m2
HIEH (t=150) 6.2 m2
£ g1 i g =t B 2 | B
157X ¥ RN
URMALE No.86+80.001 3 1000 | m
SU—F0E N
=1 10.00| m
10m¥%yY
BE)LZIL 016 | m3
FEHEH (£=150) 6.20| m2




TR L ] _
REWET = EE
AsHh—JrmEK S=1/5
100
WrmEmFE=0.02m2
8
87‘_
‘ 230 ‘
£ R K g =t B 2 | B
FAI7ILeH—T
No.86+80.004 3 ~No.87+10.004 31 36.00[ m
m
=1 3600 m




